DHSERE

ZPRPEBRFARERE FRGE(ZF)HER—F

GilZ¥7a=1

1B {52 FRA BH
1 ¥5¥$ 130.350
2 7 F';Fs PER 128.000
3 FAFE—FZER 127.450
4 EERPZR 116.400
5 BH "‘;s—ﬂ;d:*c 111.650
6 KEEEPFER 63.850
7 EHRERER 32.150
8

BALES

JE sz A K £ BHH
1 FA—H 1'332 FES 45.800
2 2EFE Tk BERE 44.650
3 EEFE 7(&& FHE 43.900
4 KE—th &8 HA 43.800
5 KEZd /R BB 42.950
6 FA—rh BER KR 42.050
7 Z2EFE WHE =M 41.200
8 MTGC e /MR 41.100
9 [ lan &R #2FH 40.500
10 KE =t M BF 40.350
11 KE = B8 %W 40.100

)iy ERERAEEEE
#AB 20234108 31H

EHRI PE

I {52 B e K £ BH
1 MTGC hilE /\iE 12.000
2 E2EFE T BHE 11.950
3 FA—m F=E = 11.700
4 KEZrh 8 6A 11.650
4 KE_—H M BF 11.650
6 Z2EFE XM ZFHE 11.600
7 2EFHE WHE EM 11.500
8 R —dn e fEH 11.400

BRI BELFEiTE

JIE 52 EEd K £ BHH
1 FA—th F=E = 11.000
2 2EFHE T AR 10.500
3 S A—rh BER KR 10.150
4 JKEZrh Bk BE 9.750
5 Z2EFE jckm FHE 9.300
6 KEZH 5.8 A 9.200
7 EREEE A i 8.900
8 s ch £R #FH 8.700

EEHA Tmae

I 52 FRA K £ BH
1 2EFE Tk EHE 11.900
2 KFEZdh &8 HA 11.550
3 2EFE KA FHE 11.250
4 A —rh RE FIE= 11.100
5 HFA—t L D= 11.000
6 KEZ=Hh #HAR BRE 10.800
7 fE— BEE EAZE 10.500
8 MTGC flE /EE 9.750

EHA b

JIB {52 EEd K £ BH
1 FA—r EER KR 12.050
2 FA—th F=E 0= 12.000
3 2 E2E WH EM 11.800
4 £ 2FE RN FHE 11.750
5 ARG R B3 11.600
6 MTGC el N 11.500
7 KEZmh 58 thA 11.400
8 KE—h ML BEF 11.200




